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1. Suppose a person must accept one of three bets:

© Bet 1: Win $1,000 with probability 1/2; lose $100 with probability 1/2.
Bet 2: Win $500 with probability 3/4; lose $300 with probability 1/4.
Bet 3: Win $100 with probability 9/10; lose $900 with probability 1/10.
a. Which of these are fair bets? (4 points)
b. Assume the initial income is $1000, what is the utility of each bet? Please graph

the utility of each bet on the utility of income diagram. (4 points)

c. Explain carefully which bet will be preferred and why? (4 points)

2. What would happen if the labor market was dominated by a monopsonist and the
government set a wage at the level of competitive wage? Please graph and explain
it. (10 points)

3. In the short run the demand for cigarettes is perfectly inelastic. In the long run the
demand for cigarettes is perfectly elastic, What are the impacts of a cigarette tax
on the price that consumers pay in the short run and in the long run? Please graph’
and explain it. (10 points)

4. If Robinson’s marginal rate of substitution between coconuts and fish is -2 and the
marginal rate of transformation between the two goods is -1, what should he do if -
he wants to increase his utility? {8 points)

5. Suppose that a firm faces demand curve that has a constant elasticity of -2. This
demand curve is given by
_256
pz
Suppose also that the firm has a marginal cost curve of the form

MC=0.001q
a) Calculate the marginal revenue curve associated with the demand curve.

Graph these demand, marginal revenue and marginal cost curve. (6 points)
b) At what output level does marginal revenue equal marginal cost. {4 paints)
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